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CMR
'T'\I'ESCTA,T\]%T_%(G)\F( USN [1 |c |R TECHNOLOGY
Internal Assesment Test - |
Sub: Basic Electronics Code: 18ELN14
Date: | 17/10/2018 Duration: |90 mins Max Marks: |50 Sem: |l SEC: 1,J,K,L,M,N,O
Answer Any FIVE FULL Questions
OBE
Marks =5 TrBT
1 Draw and explain V-l Characteristics of Practical PN junction Diode. Also, explain diode Approximate DC [10] | CO1 | L2
equivalent model.
2 Explain Half Adder circuit and Realize a Full Adder using two Half Adder and an OR [10] | CO5| L2
Gate. Write truth table and expression for sum and carry output.
3@ What is arectifier? With aneat circuit diagram, explain the working of a halfwave rectifier along with relevant [05] | COZ ) L2
waveforms.
(b) Derive the expressions for ldac, Ve, Irms Of & half-wave rectifier [05] | CO5| L3
Perform the following Conversions. [10] | CO5| L3
i) (DACFE)16 >(?)s (i) (834.446)s > (?)10
ili) (9144.675)10>(?)2->( )1s  (iv) (10101.11011)2 > (?)s
(v) (9FAC.58B)16 > (?)10
5(a) With alogic diagram and truth table, explain the operation of a clocked RS flip- flop. [05] | CO5| L2
(b) Simplify the Boolean expression and implement using NAND gate . [05] | CO5| L3
(i) Y=AC+ ABC+ A BC+ AB+D
(i) Y=AB'C+A'B C+A' B +A' C
CMR
'T'\I'E%TA,T\I%TL%&F( USN [1 |c |R R TECHNOLOGY
Internal Assesment Test - 111
Sub: Basic Electronics Code: 17ELN25
Date: | 23/5/2018 Duration: |90 mins Max Marks: |50 Sem: |l SEC: 1,J,K,L,M,N,O
Answer Any FIVE FULL Questions
OBE
Marks =5 TreT
1 Draw and explain V-l Characteristics of Practical PN junction Diode. Also, explain diode Approximate DC [10] | CO1 | L2
equivalent model.
2 Explain Half Adder circuit and Realize a Full Adder using two Half Adder and an OR [10] | CO5| L2
Gate. Write truth table and expression for sum and carry output.
3(a) Whatisarectifier? With a neat circuit diagram, explain the working of a half wave rectifier along with relevant [05] | CO2| L2
waveforms.
(®) Derive the expressions for lac, Ve, Ims Of a half-wave rectifier. [05] | CO5 | L3
4 Perform the following Conversions. [10] | CO5| L3
Sii (DACFE)16 > (?)s (ii) (834.446)8 = (?)10
iil) (9144.675)10>(?)2->( )1s  (iv) (10101.11011)2 > (?)s
(v) (9FAC.58B)1s > (P10
5(a)  Withalogic diagram and truth table, explain the operation of a clocked RS flip- flop. [05] | CO5 | L2
(b) Simplify the Boolean expression and implement using NAND gate . [05] | CO5| L3
(i) Y=AC+ ABC+ A BC+ AB+D
(i) Y=AB C+A'B C+A'B+AC




6(a) Whatisa counter? With a neat timing and block diagram, explain three bit asynchronous counter operation.

(b)  With a neat block diagram explain GSM system.

7 (a)What is a multiplexer? Explain the working of 4:1 multiplexer.

(b) What is a shift register? Explain the working of a 4-bit SISO shift register.

6(a) Whatis a counter? With a neat timing and block diagram, explain three bit asynchronous counter operation.

(b)  With a neat block diagram explain GSM system.

7 (a)What is a multiplexer? Explain the working of 4:1 multiplexer.

(b) What is a shift register? Explain the working of a 4-bit SISO shift register.

[05] [cO5[ L2
[05] [CO6| L2
[05] [CO5| L2
[05] | C
05 | L2

[05] [CO5[ L2
[05] [CO6| L2
[10] [co5| L2

CO5| L2




